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Thursday, April 14, 2011

--- On commencing at 10:13 a.m.

MS. HARE:  Good morning.  We're here today on day 4 in the case of Horizon Utilities Corporation's application for cost of service, application for new rates commencing January 1, 2011, EB-20010-0131.  The purpose of today's hearing is to provide parties with the opportunity to ask any questions about the undertaking responses that have been recently filed.

Mr. Sidlofsky, do you have any preliminary matters?
Preliminary Matters:


MR. SIDLOFSKY:  Yes, I do.  Thank you, Madam Chair.

Just to confirm, the balance of the undertaking responses was filed -- was delivered yesterday to parties and to the Board.  Just for the purposes of the record, I'll say that the following undertaking responses were delivered:  J1.1, J1.9, J2.4, J2.6, J3.1, J3.2, J3.3, J3.4, J3.5, J3.6, and J3.7.  And that should complete the undertaking responses for Horizon.

I have three preliminary items this morning.  First, along with the undertaking responses yesterday, Horizon provided a revised version of table 4-26.  That table reflects a number of changes.  I note that when I originally sent that table out yesterday, I had mentioned a couple of changes.  There are a couple more, and to make it clear for the record, I'll set those out now.

And perhaps we could work from the redacted version of the document.  What I will say is the redaction in table 4-26 is the same redaction that appeared in the original application; that is, the right-hand column of the table, which shows individual salaries, that column has not changed from the original application.  The salaries remain the same as shown at that time.

This version of table 4-26, though, incorporates a response to Board Staff interrogatory 30, where, in part, Horizon was asked to update that table to reflect a more accurate picture of hiring -- of the positions that Horizon had hired since the application was filed.  So this table does that.

There is a general clerk position in 2000 -- it was originally shown as being hired in January 2011.  That's the -- excuse me, the sixth row from the bottom of the chart on the second page.  That position was filled in March of this year.

In the last row of the page - and I have two comments on this row - the network operator apprentice positions originally were shown as January 2011 hires.  They were in fact hired in February and April of 2011.

And the other thing I would note about that row is that in the original version of the table, three positions were shown beside the network operator apprentice title.  In fact, the correct number was two, and I'm advised by Horizon that the salary figure that you won't see on the redacted version, but the salary figure in the right-hand column reflects two positions.  So, once again, the salary hasn't changed.

One other item on the chart is the last item of 2010, the line maintainer/cable splicer positions.  That's on the first page.  The Board may recall Ms. Galli in her -- during her cross-examination mentioning that there were seven positions, seven apprentice positions.  That has simply been -- the term "seven positions" has simply been included in the line beside the title of the position.

As I mentioned before, though, the salary figures do not change, though, and those reflect -- the salary figure that's redacted from the public version reflects those seven positions.

MS. HARE:  Thank you.

MR. SIDLOFSKY:  Sorry, that's the first item.

The second item deals with the -- deals with an updated revenue requirement work form.  Now, Horizon was not asked to provide this as part of an undertaking, but Horizon does intend to do so.  They will provide an updated revenue requirement work form to reflect changes that were made in the course of responding to the undertakings.  They simply don't have that available at this time.

And finally -- I'm sorry?

MS. HARE:  Mr. Shepherd, did you have a comment on that?

MR. SHEPHERD:  Sorry, Madam Chair.  The key document in the proceeding, the one that drives the deficiency, they've made material changes to it and they won't give it to us?

MS. HARE:  No, they said they would give it, they just don't have it ready today.

MR. SHEPHERD:  So they're going to give it to us --


MS. HARE:  Is that what I understood, Mr. Sidlofsky?

MR. SIDLOFSKY:  That's correct.

MR. SHEPHERD:  So they're going to give it to us after the hearing?  I don't think that's appropriate.  I think we need it now.

MR. SIDLOFSKY:  I may need a moment to speak to Horizon staff.  Perhaps I could deal with the last item and get the preliminary matters out of the way.

MS. HARE:  Sure.  Yeah.

MR. SIDLOFSKY:  The third item relates to two confidential items.  The first is a confidential, unredacted version of undertaking J2.4.  The text of the response is the same in both the confidential and the public versions.  The difference, though, is that appendix 2K, or the updated version of appendix 2K, which is –- which forms part of that undertaking response, is unredacted in the confidential version and it's redacted in the public version.

Again, that appendix was redacted due to the ongoing labour negotiations at Horizon.

MS. HARE: Mm-hmm.

MR. SIDLOFSKY:  The second confidential filing would be the confidential, unredacted version of table 4-26, again showing individual -- showing the salaries for individual positions.

And I understand from my friend Ms. Helt that the Board's preference is to assign those confidential undertaking numbers, I believe.

MS. HELT:  Yes.  Madam Chair, I think it would probably make most sense to mark it as Confidential undertaking JX2.4, so it relates back to the original undertaking 2.4.

And we will include in that confidential undertaking table 4-26 as part of confidential undertaking J2.4 -- JX2.4, I'm sorry.
UNDERTAKING NO. JX2.4:  TO PROVIDE an UNREDACTED VERSION OF APPENDIX 2K AND TABLE 4-26, SHOWING SALARIES FOR INDIVIDUAL POSITIONS.

MS. TAYLOR:  Sorry, just to be clear, does that include the appendix 2K?

MS. HELT:  Yes, that is part of -- appendix 2K is part of JX2.4.  It's a three-page document.  And then the table, 4-26, year-over-year additional full-time employees and starting -- or budgeted salary, will be the second part of JX2.4.

MR. SIDLOFSKY:  Madam Chair, if I could just answer Mr. Shepherd's comment?

MS. HARE:  Yes, please.

MR. SIDLOFSKY:  As I mentioned, the load forecast was provided as part of undertaking J3.3.  Undertaking J3.3 also provides a -- also provides an updated version of the revenue deficiency, total revenue requirement and rate base at the bottom of page 2 of that undertaking response.

So if Mr. Shepherd is concerned about what exactly the utility is looking for in this application, he has that information.

MR. SHEPHERD:  Madam Chair, the revenue requirement work form is a seven-page spreadsheet, which you put in some inputs and it pumps out the numbers.  It takes 15 minutes.

MS. HARE:  But Mr. Shepherd, the work form is the result of the inputs, and it's the inputs that we're examining today.

Do you need to -- I understand you would want to see that work form before you have to put in your submission, but it doesn't affect what we do today or your ability to put in --


MR. SHEPHERD:  No.

MS. HARE:  Okay.  Thank you.

MR. SHEPHERD:  No.  Obviously if there were surprises in the work form, we'd be coming back to the Board and asking for an opportunity to cross-examine on it.  Hopefully, there will be no surprises; it will be exactly as we expect.

MS. HARE:  Okay.  So let's proceed, then.

And Mr. Sidlofsky, when do you think that work form would be available to be filed?

MR. SIDLOFSKY:  If I could just have a moment, Madam Chair?

MS. HARE:  Sure.  Of course.

MR. SIDLOFSKY:  Thank you.

MS. HARE:  Do you want five minutes?  Yes.  Okay.  We'll go off-air for 5 minutes.

MR. SIDLOFSKY:  That would be good.  Thank you.  Thank you.

--- Recess taken at 10:28 a.m.

--- On resuming at 10:35 a.m.

MS. HARE:  Please be seated.

Mr. Sidlofsky, you were conferring with your client as to the time lines for submitting the revenue requirement form.

MR. SIDLOFSKY:  I was, Madam Chair.  They'll be in a position to have it filed by tomorrow at noon, midday tomorrow.

MS. HARE:  Thank you.  And that's acceptable, Mr. Shepherd?

So as I understand it, Mr. Buonaguro has a few questions, Mr. Shepherd has a few questions, and Staff may or may not, depending on how the questions go.

Okay, thank you.  So, Mr. Buonaguro.

MR. SIDLOFSKY:  Sorry, Madam Chair, for the Board's assistance, would you like to know who the panel is this morning?  It's a large panel.

MS. HARE:  Yes, please.

MR. SIDLOFSKY:  We've just made sure that numerous --


MS. HARE:  Yes, please introduce your panel.  They've all been sworn in previously.

MR. SIDLOFSKY:  They have all been sworn.  They're all familiar faces by now, but perhaps from the far end, Kathy Lerette, Lise Galli, Sarah Hughes, John Basilio, Indy Butany-DeSouza, Eileen Campbell, Bruce Bacon and Grant Brooker.  We've tried to make sure as many people are available as possible to answer questions on any of the undertakings.

MS. HARE:  Thank you.  The Board appreciates that.

MR. SIDLOFSKY:  Thank you.
HORIZON UTILITIES CORPORATION - PANEL 4

Kathy Lerette, Previously Sworn

Lise Galli, Previously Sworn

Sarah Hughes, Previously Sworn

John Basilio, Previously Sworn

Indy Butany-DeSouza, Previously Sworn

Eileen Campbell, Previously Sworn

Bruce Bacon, Previously Sworn

Grant Brooker, Previously Sworn

MS. HARE:  So, Mr. Buonaguro.

Cross-Examination by Mr. Buonaguro:


MR. BUONAGURO:  Thank you.  Good morning.  I'll dive right in and start with a few brief clarification questions on the response to undertaking J2.4, and I only need to look at the public redacted version of it.  I'm not actually asking questions about the redacted parts of the confidential exhibit.

I just want to make sure I understand what I'm looking at.  At page 2 of the response, at point number 2, it says Horizon has provided head count figures for each of its budget years.

And I notice that it says THESL has provided full-time equivalent employees for each of these years.

So going over to the table -- and I assuming when you're talking about that, you're talking about the actual columns; is that right?

MS. GALLI:  With respect to Horizon?

MR. BUONAGURO:  Yes.

MS. GALLI:  Yes.  We are referring to actuals and budget figures.

MR. BUONAGURO:  Okay.  So let me just get an example, then.  Let's look at 2010 actual.  And we have a total 386-person head count; is that correct?

MS. GALLI:  Correct.

MR. BUONAGURO:  And what that means -- or I'm assuming what that means - and you can confirm - that means that December 31st, 2010, the number of people on your payroll is 386?

MS. GALLI:  That's correct.

MR. BUONAGURO:  Okay.  So -- but in terms of FTEs, which is how you're contrasting yourself with Toronto Hydro, if you were to redo this table -- and I'm not going to ask you to do it --


MS. GALLI:  Thank you.

MR. BUONAGURO:  -- because you're probably going to tell me you don't have the information readily available.  You can confirm that in a second.  But if you were to redo this on an FTE basis, you would be going back over the year and find out, for example -- oh, well, let's take an example.

If somebody was hired on December 30, 2010, you have them here as a full person for head count purposes, but for the purposes of -- FTE purposes, they would be 0.0001 or something like that?

MS. GALLI:  That's correct.

MR. BUONAGURO:  Now, am I correct that you don't -- well, I'll ask you.  Do you track the information to convert this into FTE basis?

MS. GALLI:  We don't currently track it that way.

MR. BUONAGURO:  Okay.  So on an FTE basis, it may be lower than 306, for example, depending on when people were hired or left the company?

MS. GALLI:  That's correct.

MR. BUONAGURO:  Okay.  Thank you.  But then for budget years, are budget years based on FTE?  So, for example, if you look at the 2010 budget year, you were budgeting for 401.  What does that mean?

MS. GALLI:  That would be a head count number, as well.  It's distinguished from FTE in that respect because some hires may be planned for a different date of hire than a Jan 1 date of hire.  So if we had budgeted, for example, a hire date of April 1st, that would not be reflected.  We're looking at total head count.

MR. BUONAGURO:  Okay.  So for 400 -- well, let's take 2010 budget for -- as the example.

If you're budgeting for 401 head count, what you're saying is, By the end of the year, we expect to have a complement of 401 people?

MS. GALLI:  That's correct.

MR. BUONAGURO:  And then going down to total compensation for the same year of 37,500,000 or so, on a budget basis, that's -- if all these people were there for the entire year, that's how much we would pay them?

MS. HUGHES:  So, no.  The 2010 budget would reflect the compensation for the employees at the time of their start date.  So any new hires in 2010, if their start date is, say, June 1, the compensation would only be from June 1.

MR. BUONAGURO:  Okay.  So in that sense, the compensation -- well, for total compensation, though, then, that means that it's essentially on an FTE basis for budget purposes?

MS. HUGHES:  The compensation would be on an FTE basis; that's correct.

MR. BUONAGURO:  Okay.  Does that carry through to all of the columns when you're talking about, for example, total benefits, total salary and wages, for example?

MS. HUGHES:  Yes, it does.  And each year's budget that we've presented on this schedule would have been done in the same manner.

MR. BUONAGURO:  Okay.  And then for average -- for the average numbers, average yearly overtime, average yearly incentive pay, average yearly benefits, how does that work?  I mean, how do you get -- from what you're telling me, if the head count is on a head count basis -- sorry, if the number of people is on a head count basis at the end of the year, but the compensation is calculated on the basis of FTEs, essentially, how do you calculate an accurate average?

MS. HUGHES:  So I would say we've done the average based on the total compensation divided by the year-end head count.  That is how we've computed the average.

Now, I know in 2010, I believe the schedule -- and I can't recall the reference, but there were not that many new hires planned for 2010 that were sort of not Jan 1.  I believe we identified six new head count that would have been a start date other than January 1.

MR. BUONAGURO:  Okay.  But just in terms of what I'm reading on the table, I just want to understand where I -- where it's 100 percent accurate and where there are certain discrepancies in terms of what numbers are being combined.

What you're telling me is that on the budget years, because your total compensation is based on, essentially, an FTE basis and the head count numbers that you're using in conjunction with those total compensation numbers are being combined on a head count basis versus an FTE basis, that would mean that the average numbers which are coming here maybe on an actual basis would be different?

MS. HUGHES:  Yes.

MR. BUONAGURO:  Okay, thank you.  All right.

So I'm going to leave that, and I'm going to move to some follow-up on some of the panel 3 undertakings, which were starting with undertaking 3.4.  Okay?

All right.  So as part of this undertaking, our understanding was that the company was to confirm what the OPA showed in terms of the persistence of the 2006 CFL programs through 2010 and 2011.

The undertaking was to provide a report, and just reading from the transcript, volume 3, pages 46 to 47, I asked:
"And, lastly, could you confirm, if it's not explicitly in the report -- I think it will be in the report, but can you tell me what the latest OPA report shows in terms of the persistence of 2006 programs regarding CFLs in the years 2010 and 2011, or is that something I'll just find in the report when I get it?"

And then Ms. Campbell responds:
"We could highlight that from the report."

So as part of the response, it wasn't highlighted, so I just want to go through to make sure we're understanding what the report actually says.

So if you could open that small car-sized package of documents to page 17.  Our understanding is that the CFLs we're asking about are captured under the 2006 Every Kilowatt Counts program?

MS. CAMPBELL:  Yes.

MR. BUONAGURO:  And we noticed that the initial savings of 14,710 declined to 1,997 after four years?

MS. CAMPBELL:  In 2006, the OPA did use the higher kilowatt count, the 104, for four-year life.  We have adjusted in the -- in your -- in the technical question that we responded to, undertaking, we adjusted that to the eight years and 43 kilowatt-hours.

MR. BUONAGURO:  Okay.  Thank you.  I'm just actually right now asking about what the report says.

MS. CAMPBELL:  Okay.  So the report did -- it was using 2006.  The OPA did use a four-year, 104 lifespan.

MR. BUONAGURO:  And it starts at 14,710 and declines to 1,997, after four years?

MS. CAMPBELL:  Yes.  Under the column "2010" it's 1,897.

MR. BUONAGURO:  Sorry, 1,897.  Thank you.

And I think this is implicit in what you just said, but this -- those figures are reflective of the OPA's assumption regarding the four-year life for CFLs?

MS. CAMPBELL:  That is correct.

MR. BUONAGURO:  And if you go back to page 3 of the report, it appears here that the savings in 2011 attributable by the OPA to 2006 to 2009 OPA programs is $39,225 –- or, sorry, 39,225 in net megawatt-hours?

MS. CAMPBELL:  Yes.  Under column "2011" 39.255.

MR. BUONAGURO:  255?  I think I said 225.

MS. CAMPBELL:  I think it's 255, I'm --


MR. BUONAGURO:  I don't have the report.

MS. CAMPBELL:  I -- oh, you don't have the report in front of you?  Okay.

Yes.  Under the column "2011" it's 39,255.

MR. BUONAGURO:  Thank you.  And this compares with a value of 47,768 megawatt-hours that's used in the application, in establishing the overall forecast of CDM activity for 2011 of 167,138 megawatt-hours?

MS. CAMPBELL:  I will defer to Mr. Bacon for that.

MR. BACON:  Can you take me through that, how you came up with those numbers?

MR. BUONAGURO:  Sure.  I can.  So we get the 47,768 megawatt-hours that you used in the application from summing up the OPA programs resulting from 2006 to 2009, as shown in VECC No. 2, and as compared to the 167,138 that comes from the response to OEB No. 12(a), Interrogatory 12(a).

MR. BACON:  So VECC 2, you --


MR. BUONAGURO:  I think it's VECC 2(b).

MR. BACON:  Right.

MR. BUONAGURO:  And you notice 47,768?

MR. BACON:  No, this is VECC.  I'm not seeing the 47,000.

MR. BUONAGURO:  It comes from summing up the OPA program results for 2006 to 2009.

MR. BACON:  Okay.

We're getting 60,255.

MR. BUONAGURO:  So you're telling me that in the application with respect to the savings in 2011 attributable to 2009 -- sorry, 2006 to 2009, the OPA programs, they used a figure of, sorry, 16 --


MR. BACON:  Well, you took me to 1(b).  I suspect --


MR. BUONAGURO:  2(b).  I think it's 2(b).

MR. BACON:  2(b)?  I think -- maybe it's 2(a)?

MR. BUONAGURO:  Okay.

MR. BACON:  Let's go back to 2(a).

MR. BUONAGURO:  Forgive me if I'm not as sharp as I hopefully usually am.  This is a quick turnaround.

MR. BACON:  Okay, 47,768 is the number?

MR. BUONAGURO:  Yes.

MR. BACON:  Okay.  Yeah, I concur.  I concur.

MR. BUONAGURO:  So we're right?

MR. BACON:  That's correct.  That was in the application four OPA programs.

MR. BUONAGURO:  Okay.  And that contrasts -- that's the same value that we're now looking at the report from the OPA, which says it's 39,225.  Those are comparable numbers?  They represent the same thing, but have different values?

MR. BACON:  Now I need to know where the 39,000 comes from.

MR. BUONAGURO:  It's page 3 of the report.

MR. BACON:  Okay.  Yes, I see those numbers.

MR. BUONAGURO:  Okay.  But are you agreeing that, A, they're different, but, B, they're supposed to represent the same thing, so that, C, you now have an updated number from the OPA?

MR. BACON:  They're different, and they do not represent the same thing.

MR. BUONAGURO:  Okay.  What -- what's the difference in what they represent, then?

MR. BACON:  The difference is, under the OPA programs that are used in the application, it's the sum of all the new programs within the year.  The 39,255 represents the results in 2011 from all programs from 2006 up to 2011; is that correct?

MS. CAMPBELL:  That's what's on the chart, yes.

MR. BACON:  That's a different calculation.

MR. BUONAGURO:  So when I described it as -- in terms of page 3 of the report, I described it as the savings in 2011 attributable to 2006 to 2009 OPA programs.

Are you saying I'm incorrect?  Because you mentioned 2006 to 2011 programs.

MR. BACON:  Sorry.

[Witness panel confers]

MR. BACON:  Yes, it's for 2006 to 2009 programs.

MR. BUONAGURO:  Okay.  Does your answer, though, that they represent different things still hold?

MR. BACON:  Yes.

MR. BUONAGURO:  Okay.  Thank you.

I'd like to look at undertaking J3.3.

MR. BACON:  Yes?

MR. BUONAGURO:  And the -- I guess the result of this undertaking response is that you've looked at various things and recalculated your load forecast for non-large-users, with a result that the revenue deficiency has increased by just over $1 million; is that --


MR. BACON:  That's correct.

MR. BUONAGURO:  Okay.  In J3.3 -- well, first I should hand out an exhibit that we've tried to put together to help us with going through this issue.

MR. BACON:  Okay.

MS. HELT:  Yes, Mr. Buonaguro.  This is the exhibit entitled:  "Horizon CDM Activity," prepared by VECC?

MR. BUONAGURO:  Yes.

MS. HELT:  That can be marked as Exhibit K4.1.
EXHIBIT NO. K4.1:  VECC DOCUMENT ENTITLED, "HORIZON CDM ACTIVITY."

MR. BUONAGURO:  Thank you.  And I should note a correction on the exhibit.  If you look under the column called "3 tranche" or "third tranche" in brackets "[VECC No. 4(b)]" it should actually say "[VECC No. 2(b)]" as the reference.  Okay?  So do you have that?

MR. BACON:  Yes.  Thank you.

MR. BUONAGURO:  Thanks.  Now, in J3.3, you've set out revised values for the CDM activity variable for the historic years 2006 to 2009; correct?

MR. BACON:  Yes.

MR. BUONAGURO:  And if you look at the VECC Exhibit K4.1, we've summarized these in the column on the left, titled "Updated cumulative savings"?  Do you see that?

MR. BACON:  Yes.  I see those numbers.

MR. BUONAGURO:  Now, on the columns on the right, we've set out the historic CDM savings reported in the most recent OPA report, which you filed in J3.3, and which we've just been discussing.  And I think you've actually filed that in undertaking J3 -- was it 3.3 or 3.4?  I can't remember now.  The report?

MR. BACON:  The report is in 3.4.

MR. BUONAGURO:  Thank you.  So we've taken the numbers from the OPA report and also used your reported third-tranche savings that you reported in response to VECC No. 2(b), which we've also been talking about.  So we tried to put this out on the table.

And the column titled "Cumulative Savings (per reference)" simply totals these values so you can see, for example, the 37,012 figure for 2006 is the sum of the values from the OPA results that we find in J3.4 and the third-tranche results that you report in VECC No. 2(b).

Do you see what we tried to do there?

MR. BACON:  So that -- explain how the 37,012 -- what's the addition of the number?  It's these?  It's the 15,506 and the 21,506; right?

MR. BUONAGURO:  Sorry, it would be the 15,333 -- sorry, I'm getting confused.  Yeah, 15,506 and 21,506, I think.

MR. BACON:  That's right.  Okay, I see where you're coming from.

MR. BUONAGURO:  It's taking the subtotal from the OPA results over the relevant time period plus the subtotal of the third-tranche program years -- sorry, go ahead?  You can see the total.

MS. BUTANY-DESOUZA:  And that's including 2005 to get to the 37,012?

MR. BUONAGURO:  Yes.  Using the example of 2006, to get the subtotal for the third-tranche savings you would add 6,173 plus 16,333 to get 21,506, and then you would add that to the third -- to the OPA results, which were 15,506 to get a total of 37,012, which then appears under "Cumulative Savings (per reference)".

So we're comparing what we get from the OPA results that are shown in J3.4, plus the third-tranche reports that you've set out in VECC No. 2(b), to come up with a total cumulative savings of, for example, 37,012 in 2006 and comparing that to the 22,073 that you're using in your updated load forecast.

Does that make sense of what we're trying to do here?  Okay, thank you.

And you'll see that -- you can see that we've come up with a difference in the two columns.  So, for example, you're reporting 33,042 for 2007, whereas if we take the results from the report, plus the third-tranche savings, which are what that figure we think is supposed to represent, we get 47,669.

And the difference persists throughout the different years.  We were wondering if you can comment on why there would be that discrepancy.

MR. BACON:  This relates to the double count that we - that Horizon determined.  The 15,506 is actually no longer in our numbers.

MR. BUONAGURO:  So when you say it's double counted, it was double counted by the OPA in their report?

MR. BACON:  Eileen's going to -- or Ms. Campbell will address that.

MS. CAMPBELL:  No, it wasn't double counted by the OPA.  It was inadvertently added into our -- the third-tranche program report that we did for our latest LRAM, all of the results, including the OPA programs that were run in 2006, most of which were a pilot - there was three programs under way - were included in the total.

When we were looking at our load forecast, we had the OPA report, which had the 2006 results of 15,506, and we had our third-tranche results from our LRAM, and we inadvertently added the two together; yet there was a combination in our third-tranche report already.

And the two programs are the Every Kilowatt Counts at 14,710 and the refrigerator - I'm not sure whether it was called Bounty or RoundUp at that time - at 230.  So there's a double count of 14,940 megawatts within our original information.

And I could take you to -- if you would like some further clarification on that, I could take you to the charts that we prepared for VECC Technical Question No. 1, where we detailed out what was in our third tranche and what was in the 2006 OPA results.

MR. BUONAGURO:  Okay.  Just at a high level, then, looking at the Exhibit K4.1, you're telling me that the difference between updated cumulative savings, J3.3, and cumulative savings per reference is that within the third tranche VECC 2(b) reporting, there was double counting.  And so when I have numbers like 6,173 for 2005 and 15,333 for 2006, some of these numbers have changed because of double-counting errors?

MS. CAMPBELL:  That is correct.

MR. BACON:  No, I want to correct that.  The numbers in the third tranche have stayed the same.  It's the OPA numbers that have been revised.

MR. BUONAGURO:  Okay.  And that's why I'm misunderstanding, because when I first asked about this, I said, So you're saying that the OPA report is wrong?

MR. BACON:  No, we didn't say that.

MS. CAMPBELL:  The OPA report is not wrong.

MR. BUONAGURO:  Okay.

MS. CAMPBELL:  It's how Horizon used the information internally.  We used the OPA report plus our third-tranche report, but our third-tranche report included the OPA results.  So we didn't separate them out.  We didn't separate the OPA results out.  If we had've, we would have been looking at using the OPA report, plus our third tranche.  And our third-tranche report would have been a much lower number.

MR. BUONAGURO:  I see.  So when we look at third tranche VECC No. 2(b) program year results, in order to be used in conjunction with the OPA results that are in J3.4, you have to take out certain values from your third-tranche report, because you're already reporting part of what was in the OPA report?

MS. CAMPBELL:  Correct.  And the difference --


MR. BACON:  Can I -- I just want to make sure what we actually did here.

In the third-tranche section, specifically the 15,333 number under 2006, we left that number in.  What we actually took out for the purposes of the forecast was the 15,506, the reason being...

[Witness panel confers]

MR. BACON:  All right.  Okay, thank you.

We took out the 15,506, but there was some residual OPA programs that stayed around of 567.  So we left that amount in.

What I'm trying to say is the 15,506 minus the 567 is the amount we took out.  Why did we take that out?  That was the amount that was actually double counted conceptually in the third-tranche amount.

We left the third tranche in, because it was at eight years for CFLs.  The OPA number was at four years for CFLs.  So in order to maintain the eight-year position on CFLs, we left the third-tranche value in and we took the OPA out for purposes of determining the cumulative savings variable.

MR. BUONAGURO:  Okay.  Could I ask you, then, to -- can you run a version of this table that I've given you and showing what numbers you're using for OPA results 2006 to 2009 and third-tranche program year?  I suspect, from what you're telling me, is that your third-tranche program year's numbers will be the same, but that the OPA results, the figures would be different?

MR. BACON:  That's correct.

MR. BUONAGURO:  And then summarize as part of the response why they're different from what I have here.  I think that's part of what you've already given us in answer, but it would be useful in the interrogatory response.

MS. HARE:  Mr. Bacon, is that something you can answer today?  I'm reluctant to take more undertakings.

MR. BACON:  I could do it with some time.  I can't...

MS. BUTANY-DESOUZA:  Sorry, but, respectfully, that's what we've set out in the response to J3.3, in terms of the stepped approach that we did take.  And the numbers, as we've just discussed them on the record, are precisely what we've done.

And the result then translates into -- if you turn to page 2 of undertaking J3.3, it provides the impact to the load forecast, both in revenue deficiency, revenue requirement and impact on rate base, which brings us to, I guess, the bottom line, if you will, on where the revenue deficiency therefore nets out now for each of these revenue deficiency, total revenue requirement and rate base.

So the description, the narrative that precedes the chart in the undertaking, as well as the narrative that both Mr. Bacon and Ms. Campbell have just relayed to all parties, is precisely what we've just done.  It would be -- it's the same.

MR. BUONAGURO:  You're telling me that you've given me enough information on the record to do it myself, I think.

MS. BUTANY-DESOUZA:  Respectfully.

MR. BUONAGURO:  Okay, thank you.

Now, I can leave it, then.  That's fine.

MS. BUTANY-DeSOUZA:  Thank you.

MR. BUONAGURO:  So you've specified to me that you've revised the OPA results, then, that are being incorporated; correct?

MR. BACON:  That's correct.

MR. BUONAGURO:  Okay.  Now, can you confirm, then, though, that the historical values for the OPA programs that you're using here for CDM differ from those used in your LRAM and SSL application for those years?

MS. BUTANY-DeSOUZA:  Sorry.  To be clear -- and I don't want to misinterpret the question, so maybe if I can ask you to ask the question again, and then perhaps I can offer the response.

MR. BUONAGURO:  All right.  My understanding is that you took programs out of the OPA results that were already being reported in your third-tranche results, based on -- and that Mr. Bacon mentioned the different assumptions for CFLs in terms of the lifespans, so the CFLs are reported in your third-tranche numbers at eight years, for example, and that's why you maintained those figures in your third-tranche figures and adjusted the OPA figures, because in the OPA figures the lifespan was four years; correct?

MS. BUTANY-DeSOUZA:  That's correct.

MR. BUONAGURO:  And my understanding is that when you applied for LRAM for those same programs for CFLs, you applied for it on a four-year basis, so you've already recovered on a four-year basis for LRAM; is that -- am I correct?

MS. CAMPBELL:  So I would reference you back to the answer to VECC Technical Question No. 1, where we have provided the two charts for the 2006 third-tranche programs, with the CFL life of eight years, 43 kilowatt-hours.  And then the chart on page 7 of 7, which has the OPA results, I think that's likely the place to note that - so that you can see it most clearly as to what we have done.

And the number in the chart, from that -- from Technical Question No. 1 is a result of the calculation from our third-tranche filing, with using the CFL at eight years.

MR. BUONAGURO:  Okay.  But I think my primary question, first, is a simpler one.

You did apply for LRAM for these years; correct?

MS. CAMPBELL:  Correct.

MR. BUONAGURO:  And within that LRAM claim, there was a claim for CDM savings related to CFLs; correct?

MS. CAMPBELL:  Yes.

MR. BUONAGURO:  And the assumptions for those CFLs, it's my understanding there could only be two sets of assumptions.

It was either a four-year, and I think it's a 103 kilowatt-hour assumption, or an eight-year, 43 kilowatt-hour assumption; correct?

MS. CAMPBELL:  Yes.  Four years, 104, and eight years, 43; correct.

MR. BUONAGURO:  Okay.  And so as part of the LRAM application for those years, what were the assumptions used?

MS. CAMPBELL:  One moment, please.  We just need a moment to confirm.

[Witness panel confers]


MS. BUTANY-DeSOUZA:  Sorry, I would refer to the decision of the Board in our last LRAM SSM application and smart meter funding adder application, dated October 8th, 2009, EB-2009-0158.

In that application for LRAM and SSM, we were using the previous assumptions of the OPA.  During the course of that, in fact immediately preceding that application being submitted, the OPA revised their assumptions and measures.  It's called "assumptions and measures"; right?

And part of that was exactly that adjustment to the Every Kilowatt Counts and associated CFL.

So in the LRAM SSM decision of the Board, we actually got revised downwards, or the updated assumptions and measures were used as part of the decision and order, and therefore the subsequent rate order that Horizon Utilities filed, and that was accepted by the Board for that related rider.

And so in this application, I guess to be clear, we have taken a consistent approach.  Where the double-counting came in was in pulling these tables together or pulling the line item -- line numbers, the quantities, from those tables together as inputs to this application, which is why the correction that Ms. Campbell and Mr. Bacon have just noted arose as a response to this undertaking.

MR. BUONAGURO:  All right.  So I think you just told me that in your LRAM and SSM application for these programs, the assumptions that were used are the eight-year and 43 kilowatt?  Is that what you're telling me?

MS. BUTANY-DeSOUZA:  Following the decision.  Our application went in on a different basis.

MR. BUONAGURO:  And that's -- what you recovered was based on eight years and 43 kilowatts, is what you're telling me?

MS. BUTANY-DeSOUZA:  Right.

MR. BUONAGURO:  Even though you went in on a different --


MS. BUTANY-DeSOUZA:  We went in on the different assumptions.  The decision of the Board was on the updated assumptions of the OPA, and the result, therefore, in the LRAM SSM -- in the outcome, the rider, was on the revised OPA assumptions or the updated OPA assumptions.

MR. BUONAGURO:  All right.  Thank you.

Now, this is staying with non-large-user forecasts.

Can you confirm that in the original application -- and I believe this appears at Staff IR No. 12(b) -- the CDM activity forecast for 2010 was 10,000 megawatt-hours, which was the difference between the 2010 value of 91,888 megawatt-hours and the 2009 value of 81,888 megawatt-hours.

MR. BACON:  Okay.  That was --


MR. BUONAGURO:  Board Staff No. IR 12(b), I think, is where we get that.

MR. BACON:  Yes.  The difference between the 2009 and 2008 values is 10 kilowatt-hours -- or 10 million kilowatt-hours.

MR. BUONAGURO:  Okay.  I think I converted to megawatts.

MR. BACON:  Okay, sorry.

MR. BUONAGURO:  It's easier to say.  Thanks.

And then can you confirm that in the update, the increase in cumulative CDM between 2010 and 2009 is 6,039 megawatt-hours, which would be 70,096 megawatt-hours minus 64,057...

MR. BACON:  That's correct.

MR. BUONAGURO:  Thank you.  And can you confirm that between 2009 and 2010, the persistence of the 2006 to 2009 programs decreases from 56,123 megawatt-hours to 39,256 megawatt-hours, a decrease of 16,867 megawatt-hours?

MR. BACON:  You need to take -- can you take us through how you came up with that number?  I...

MS. BUTANY-DeSOUZA:  Yeah, can we -- sorry.  Would you mind providing the reference?

MR. BUONAGURO:  Well, if you look at the -- our spreadsheet here, you can see the 56,000 -- I think you can see the 56,000.

I guess much of what we're getting from looking at J3.3 as compared to the original application, that originally you had 56,123 megawatt-hours of impact from 2009-2010 programs -- sorry, from an impact -- sorry.

MR. BACON:  I'm seeing a 56,123 on your chart.

MR. BUONAGURO:  Right.

MR. BACON:  Which is your interpretation of -- well, I guess that's from the OPA report; is that correct?

MR. BUONAGURO:  Yes.

MR. BACON:  Okay.  So is that what you're starting with?

MR. BUONAGURO:  Now I'm confused.

MR. BACON:  So am I.

MR. BUONAGURO:  Just give me a moment.

You can see that on the table, from 2009 to 2010 the subtotal goes from 56,123 down to 39,256.  Do you see that?

MR. BACON:  Yes.

MR. BUONAGURO:  My understanding is that means that the incremental CDM savings must be 22,906 megawatt-hours in order to offset this reduction, but still show a cumulative increase for 2010 of 6,039 megawatt-hours.

So we're looking at the decrease in the effects of the OPA programs, and then those being completely offset, but there still being a 6,039 megawatt-hour increase means that there must be an incremental CDM savings of 22,906 to both offset this decrease, but also produce an increase.  That's what I'm trying to show.

MR. BACON:  You have 22,907?  22,907?

MR. BUONAGURO:  Yeah, 906, I have.

MR. BACON:  That's what the numbers calculate.  That's not how we did it.

MR. BUONAGURO:  Okay.  Now, when you say "that's not how we did it", is this because I'm looking at this table a particular way and you've explained to me why I shouldn't be already?

MR. BACON:  Yes.  I think back to Ms. Butany-DeSouza, there's information available to put the table together a different way.

MR. BUONAGURO:  Okay.  Can you tell me if you've assumed for 2010 that it will be equivalent to the updated 2009 results?  So in the OPA results -- well, I guess this is all complicated by how you've -- relative to how I've understood it, how you incorporate the OPA results, because any time I go back to look at the OPA results from J3.4, you're telling me that is not what is included in the load forecast; is that correct?

MR. BACON:  Can I explain what we did?  Would that help?

MR. BUONAGURO:  Sure.

MR. BACON:  Okay.  So the third tranche we agree with completely.  The OPA activities, what we did is we went and we used the new programs that were listed for each year from the OPA results.  And they're actually consistent with the numbers that you had for 2007.  The first number is 10,657, the next one is 11,346, and, for 2009, 22,746.  Those are completely -- those are consistent with our numbers.

MR. BUONAGURO:  Okay.

MR. BACON:  And then Horizon did a calculation from the information from the OPA on equipment that had end of life for the various years, and we took that amount off.  So, for instance, in 2008, we -- there was end of useful life for equipment -- equipment had come to end of life was 2,722 and 2009 was 356, and 2010 was 3,960.

So Horizon did an analysis of all the equipment -- or, sorry, did an analysis of the OPA result -- of the OPA report, looked at all the equipment in that OPA report and determined, within the time period of the forecast, what equipment within that OPA report had come to end of life.  And we attempted to take that out of the CDM activity variable.

MR. BUONAGURO:  All right, thank you.

Can you tell me, do you have any evidence as to the actual CDM savings achieved in 2010, from 2010 programs?

MS. CAMPBELL:  The actual 2010 numbers are not available from the OPA at this time.

MR. BUONAGURO:  Okay, thank you.

Now, when we last spoke about the model, we did have -- or there was a reference made by Mr. Bacon with respect to the t-statistics being favourable.  I'd like to chat not about t-statistics, but about other statistical properties of the model just very briefly.

And I'm almost certain this is for Mr. Bacon.  Are you familiar with the issue of multicollinearity?

MR. BACON:  I'm sorry, I'm not.  No, I don't know that.  I know the term, but I'm -- I can't answer questions on that.  I'm sorry, I don't know it well enough to address those questions.

MR. BUONAGURO:  Okay.

MR. BACON:  What I know is R-squareds, t-stats and coefficients, and those are the things that we focus on.

MR. BUONAGURO:  Okay.  So I do have, like, a small series of questions about how multicollinearity works and what it means, but you're telling me that that's not your area of expertise?

MR. BACON:  No.

MR. BUONAGURO:  All right.  Are you aware of other applications where multicollinearity has been looked at and what the effects of those -- that study may have for these applications?

MR. BACON:  No, I'm not aware of any applications with that term or feature in it.

MR. BUONAGURO:  Okay, thank you.  Those are my questions.

MS. HARE:  Thank you.  Mr. Shepherd, do you have questions?
Cross-Examination by Mr. Shepherd:


MR. SHEPHERD:  I do, Madam Chair.  I expect that I'll be about 30 minutes, and I promise faithfully I'll be finished by 12:00, if that's all right.

I want to start with a couple of quick questions on the load forecast.  Mine won't be anywhere near as detailed and 'under the hood' as Mr. Buonaguro's, but let me start with J3.3.

If I understand -- I'm looking at the narrative at the beginning of the response.  As I understand what you've done, you made three changes to the non-large-user forecast reflecting CDM.  One is you changed the assumptions for CFL, changing it from four years and 104 to eight years and 43 kilowatt-hours.  That's the first one; right?

MS. BUTANY-DESOUZA:  Yes, that's correct.

MR. SHEPHERD:  And then the second one is there were some OPA program measures that you had treated as persisting into 2011, and you've now removed those, because they're not persistent into 2011?

MS. BUTANY-DESOUZA:  As we had discussed with Mr. Buonaguro the last time we all met, we had the -- we were asked whether we had the OPA updated report.  Given that we had the updated report, I believe -- I don't have the exact reference to the transcript, but we were asked to take a look at the OPA report, and therefore reflect or take a position on what it was we were doing with that report.

In light of the OPA report, that second part of the narrative, you're correct, therefore removes those programs that don't have persistence into 2011, based on more up-to-date or better information.

MR. SHEPHERD:  Okay.  I'm trying to keep this as simple as possible.

MS. BUTANY-DeSOUZA:  And I just want to be clear.

MR. SHEPHERD:  Okay.  And then the third is there were some programs that were double-counted within two different reports.  This is the 15,000, and you've backed that out.  So -- and that's right; right?  That's the third one?

MR. BACON:  Yes.

MR. SHEPHERD:  So all of these things appear to me to increase your load forecast.  Don't they?

MS. BUTANY-DeSOUZA:  No.

MR. SHEPHERD:  Okay.  So help me with that.

If a program is not persistent into 2011, that means that you won't count the savings in 2011; right?  Anymore?

MR. BACON:  That's right.

MR. SHEPHERD:  You did before; you won't now?

MR. BACON:  The challenge I think you're having, Mr. Shepherd, is we had that impression, as well, when we first started the process with this.  I think your question would be -- you said that forecasts went up.  It actually went down.

MR. SHEPHERD:  Yeah, and I'm telling you that these are things that looked -- if you double-count something –-

MR. BACON:  Mm-hmm?

MR. SHEPHERD:  -- that's CDM and you take it out, your forecast should go up.

MR. BACON:  That's assuming you use the same forecast.

MR. SHEPHERD:  Well, so that's what I'm getting at.

So I thought these were the only three changes.  These are all changes that appear to me to increase your forecast.  What else happened in your forecast?

MR. BACON:  We re-ran the regression analysis, and it actually came up with a better fit, better R-squared, but putting that aside, we re-ran the regression analysis with the double-count out, having all the correct values in for the CDM activity variable from 2003 to 2009.

That regression analysis, in its wisdom, assigned a higher coefficient to the CDM activity variable of 0.49 compared to 0.37.  And so what that -- that was an increase of 32 percent.

So the coefficient went up, the negative coefficient went up by 32 percent.  The reduction in the CDM activity variable as a result of addressing all the double-counts and making sure there was -- the persistence was dealt with only reduced the variable by 13 percent.

So what happens is -- I know it's kind of a double negative, because it's an amount of subtraction, but actually the coefficient is bigger, being applied -- the coefficient of negative 49 is being applied -- negative 0.49 is being applied to a smaller number, but in total, it's a bigger number being reduced.

MR. SHEPHERD:  Okay.  So this sounds very black-boxy to me, and so perhaps you can help me out.

You understand, Mr. Bacon, we've dealt with each other a number of times.  You know I know nothing from load forecasts; right?

To my simple mind, if you do three things that should each increase your load forecast, then your load forecast should increase.  And so I haven't heard anything in what your answer was to tell me why that isn't the case, other than:  It was a black box and we got a different coefficient.

So can you give me a more sort of "normal people can understand" explanation?

MR. BACON:  Let me take you to...

Can I take you to Exhibit 3 of the original application?  Exhibit 3, tab 2, schedule 2, page 15 of 17.

It's a picture.  Would you be able to turn to it, so I could show it?

MR. SHEPHERD:  Not and still make my 12:00 o'clock deadline.

MR. BACON:  Oh, sorry.  Okay.

MR. SHEPHERD:  Just describe it.

MR. BACON:  The picture shows the actual purchases and it shows the predicted purchases, but the critical point here is the actual purchases haven't changed.  So the target hasn't changed, what you're trying to target to.

And now, you might think -- well, so the actual purchases that we have for each month for 2003 to 2009 hasn't changed.  So the regression is still trying to target that number.

Does that make sense to you?

MR. SHEPHERD:  Keep going.

MR. BACON:  Okay.  So the regression has various buckets that it uses.  It has -- I call it a heating-degree bucket, and a cooling-degree bucket, and a number of days in the month, and spring/fall flag, and Ontario GDP, and CDM savings bucket.

MR. SHEPHERD:  Yes.

MR. BACON:  Okay?  And it's still trying to target that purchase amount, which hasn't changed.

So you have buckets that are -- various buckets that are trying to target that.  The only bucket that changed was the CDM savings or CDM activity variable.  It went down.

MR. SHEPHERD:  So in your past data for some of the years prior to 2011, your CDM assumption was lower because -- or that is, the actual data you had on CDM was lower because of these adjustments, but in order to get to the same number, you had to assume it had a bigger effect on the load forecast?

MR. BACON:  In order to get to, conceptually, the same bucket, you have a lower number now because CDM went down.  You have to multiply it by a bigger coefficient to get to the same bucket.

MR. SHEPHERD:  You see the difficulty that ratepayers would have in understanding that you're going to have less CDM in the test year, so as a result you want a million dollars more?  That doesn't sound right, does it?

MR. BACON:  Actually, in the test year, we had the same amount of CDM.

MR. SHEPHERD:  Well, no, you just said that your assumptions are that it's going to be less, that certain things are not going to be persistent, that the values for CFLs is going to be lower, that some things are double-counted.

So those things are all going to be out.  You're going to have more load, in a common-sense point of view, but you want another million dollars.

Why is that?

And you're saying it's because the model makes that happen; right?

MR. BACON:  Essentially, yes, because the model -- okay.

MR. SHEPHERD:  That's good.  Let me go to the next item, and it's just really a --


MR. SIDLOFSKY:  Sorry, not to interrupt -- well, I just did interrupt Mr. Shepherd, but I just want to make sure that Ms. Butany didn't have an answer?

MS. HARE:  Well, I'll tell you, I'm having a little problem.  Mr. Bacon, I thought that you ran the model?

MR. BACON:  Yes, I ran the model.  That's correct.

MS. HARE:  All right.  So then you answered about the model.

MR. BACON:  I think I misspoke myself, so I want -- let --


MS. HARE:  So Ms. Butany, what is it that you are going to add to Mr. Bacon's answer, if he ran the model?

MS. BUTANY-DeSOUZA:  I'm sorry.  Respectfully, it's just that I think -- Mr. Bacon has just asserted that he believes he misspoke, and that's only why I was trying to jump in, because I think that perhaps the -- I thought that perhaps the last statement was incorrect, where --


MS. HARE:  I do want to make sure that we have all the information on the record.

I am just a little confused, when questions were being posed to Mr. Shepherd, and you're coming over to speak to Mr. Bacon about the model, I can't understand.  That's why the other day I asked the question about what Mr. Bacon's role was.  I'm trying to understand who did what and who was responsible for what piece of evidence.

But please do add.

MS. BUTANY-DeSOUZA:  Sorry.  Perhaps to your last point, if I can clarity, Mr. Bacon absolutely did run the model.  The only reason I was coming over to Mr. Bacon is because, as Mr. Shepherd said, he's not a -- with respect, he's not a load forecast expert.  Neither am I.

But Mr. Bacon had relayed exactly what he just relayed to Mr. Shepherd to me, and so I wanted to remind him of what perhaps the layperson interprets, which is exactly what Mr. Bacon just laid out on the record, for clarification.

The point that I wanted to clarify, if I may, was simply that I think the last point that we left it at was that the model therefore adds a million dollars to the revenue deficiency, and I think that there are a number -- the revenue deficiency ends up, because of a number of different inputs, as a result, the rate base changes.

It's the construct all together.  It's not just that the load forecast therefore takes us to a million-dollar difference.  That's all I wanted to clarify.

MR. SHEPHERD:  Well, let me just follow up that, then, Ms. Butany-DeSouza.

MS. HARE:  Just one little point.

MR. SHEPHERD:  Sorry.

MS. HARE:  I want to make sure that we're just talking about the evidence and not getting into argument, which is, I think --


MS. BUTANY-DESOUZA:  Sorry.

MS. HARE:  -- what we're drifting into.

MS. BUTANY-DESOUZA:  Perhaps I'll leave it at that.

MR. SHEPHERD:  On page 2 of J3.3, you have a chart that shows how your deficiency has evolved.  And you have number 8, reduced load forecast, and it says your rate base goes down.

And, I mean, I know there are some impacts on rate base of load forecasts, but I'm not sure I get how your rate base goes down by $1 million because of a reduced load forecast.  Is this because of your working capital?

MR. BROOKER:  Very specifically, it's...  Very specifically, it's because the cost of power has come down.

MR. SHEPHERD:  Okay.  And so we have that recalculation somewhere?

MR. BROOKER:  Yes, I do.  I have it internally.  I can make sure that it's available.

MR. SHEPHERD:  Okay.  All right.  And then just the last thing on that point is J3.5.  Am I right in understanding -- I don't have -- I got this late, so I didn't have a chance to do a full comparison.  But am I right in the understanding that your 2010 actuals came in higher than your -- the forecast you had been -- that was in the evidence?  Is that right?

You just made this change yesterday.  You don't know whether it went up or down?

[Witness panel confers]

MS. HUGHES:  So, yes, when you compare the original file, table 3-1, the 2010 forecast operating revenue was $89,415,000, and the actuals are 91.057.  That's including other revenue, as well, yes.

MR. SHEPHERD:  So it's gone up just over 2 percent?

MS. HUGHES:  Yes.  I would say, yes, that's correct.

MR. SHEPHERD:  So let me turn to you, Mr. Bacon.  When you re-ran the 2010 model, did you use the 2010 actuals with the higher load for 2010?

MR. BACON:  No.  The load forecast wasn't updated for 2010 actuals.

MR. SHEPHERD:  So you re-ran the model with less CDM, but you didn't change the actuals for your most recent and, therefore, presumably your most heavily weighted year, and the result of having more -- of having less CDM impacts was that you need more money in the test year, even though last year it turned out that your load was higher than you have previously advised the Board.  Doesn't that all strike you as odd?

Maybe it's a rhetorical question.  I apologize.  Maybe I'm getting into argument, too.

I just have two quick other questions on load forecasts.  These hopefully will be a lot shorter than that.  The first is on J1.1, which was just provided yesterday.  And it looks to me like there's two big adjustments taking place when you go from 2008 to 2009 to 2010.  There are two big adjustments that are making them not really comparable.

One is that from 2008 to 2009, the large-use revenue bumped up by $1.9 million because of the end of the transformer allowance, and the second is that the 2009 data includes $1.2 million, which really doesn't relate to 2009.  It relates to a previous year; is that right?

MS. HUGHES:  That's correct.

MR. SHEPHERD:  Okay.  And so if you actually compare them on a dollars-to-dollars basis - and I think you say this - 2009 and 2010 large users' revenue were the same, 3.3 million, right, on an apples-to-apples basis?

MS. HUGHES:  Yes.

MR. SHEPHERD:  Okay.  And so the volatility there is sort of a regulatory volatility.  It's not a volatility in the actual load.  It's a volatility in the rules for calculating your revenue in those years?

[Witness panel confers]

MS. BUTANY-DESOUZA:  Sorry, no.  The -- for 2010 actuals, if you go to an apples-to-apples comparison, though you don't see -- though they're relatively close when, as you said, you go to the apples to apples, the issue is that the events, if you will, as we've described them in AMPCO tech -- our response to AMPCO Technical Question No. 5(b) and -- 5(c), excuse me, those events happened at the very end of Q4 of 2010.

And so the impact is not being fully realized in 2010 actuals, but is carrying forward not only in terms of volatility because they're persisting, but also because they impact the large use customer class load forecast.

MR. SHEPHERD:  So if I can recast that, because I love to do that, you haven't had the volatility yet in 2009 and 2010.  It's just starting at the end of 2010.  It's going to happen.  You're going to have a different number in 2011.

But 2009 and 2010 are identical, aren't they?

MS. BUTANY-DESOUZA:  No, what we've...

MR. SHEPHERD:  I thought you just --


MS. BUTANY-DESOUZA:  No, I said that they're beginning to be felt in 2010.  So 2009 and 2010 are close to one another, but the impact - and we talked about some specific users - was beginning to happen in Q4 2010.  And that's why, even when we recast the load forecast for 2010 actual, we saw a drop of 7 percent in the large-user customer class.

It's therefore being felt in 2010, as compared to the 2010 forecast that we thought would be higher, and then in the 2011 forecast, as revised at March 14th and updated for April 6th, that large use forecast, inclusive of the specific two customers in question, further revised the load downwards.

So we went from an as-filed for large use customers of 3.044 to 2.853 for 2010 actuals, more than a 7 percent drop, and then in the revised evidence to 2.417, a further decrease.

The decrease has been felt from 2009 to 2010 and into 2011. So the volatility has been there.

MR. SHEPHERD:  Okay.  Well, just a second.  It hasn't been felt from 2009 to 2010, right, because 2009, properly apples to apples, is 2.3, and 2010, apples to apples, is 3.3.  So it hasn't been felt from 2009 to 2010, has it?  It's going to be felt from 2010 to 2011 because of what happened at the end of the year; right?

MR. BASILIO:  Maybe we could just clarify, though.  At the end of the day, the volatility and the problem originates because our 2008 load forecast approved in our 2008 rate application forecasts load for this customer group much higher than what we've been experiencing from 2008 to present.

MR. SHEPHERD:  Thank you.

Now I'd like to turn to some questions on FTEs and head count, and perhaps we could just start with J2.4.  And in J2.4, I'm looking at the 2K that's attached, and I'm looking at the redacted version.  I'm not concerned at this point about the salary data; I'm concerned about the people numbers.

Your 2010 actual at the end of the year was 386.  And I take it you'll agree that if you're hiring during the year, your actual FTEs are going to be lower?  If your trajectory is increasing, then your end of the year number is going to be bigger than your FTE number for the year; right?

MS. GALLI:  Not necessarily.  That would depend on timing.

MR. SHEPHERD:  Okay.  How could that be?

MS. GALLI:  So if you experience a greater number of hires earlier in the year –- sorry, if you experience a certain number of hires earlier in the year, and then lose a higher number of employees in the latter stages of the year, your year-end number will be lower.

MR. SHEPHERD:  All right.  I'm not sure I could figure out how the math works if you have a growing workforce, but I'll take your word for it.

So you have FTEs equivalents for vacancies in 2010 of 12.  And again, I'm being relatively simplistic here; 12 plus 386 is 398, and your budget was 401.

So even with the vacancies, you're under budget; right?

MS. GALLI:  The FTE equivalent number for vacancies was provided as a forecast, Q3 forecast, at the time of this response.

MR. SHEPHERD:  Which means what?

MS. GALLI:  Which means they may or may not have been accurate at the end of the year, in terms of reconciling that three people that you're referring to.

MR. SHEPHERD:  Didn't you just file this yesterday?

MS. HUGHES:  We weren't asked to update this particular column, as it was previously provided as a Q3 forecast.

MR. SHEPHERD:  All right.  So as of the end of 2010, you had 386 people on staff; right?

MS. GALLI:  That's correct.

MR. SHEPHERD:  And at the end of 2009, you had 386 people on staff; right?

MS. GALLI:  That's correct.

MR. SHEPHERD:  But your 2009 budget was 395.

Do I take it that that difference of nine people is vacancies?

MS. GALLI:  Yes, that's right.

MR. SHEPHERD:  Okay.  And so from 2008 to 2009, you added 18 people; right?

MS. GALLI:  Yes.  That's right.

MR. SHEPHERD:  And 2008 was your rebasing year?

MS. GALLI:  Yes, that's correct.

MR. SHEPHERD:  Then from 2009 to 2010 you added none.  And now, in 2011, a rebasing year, you're proposing to add, actually, 42; right?

MS. HUGHES:  Forty-two from the point at which there are existing vacancies, but 27 new hires for 2011.

MR. SHEPHERD:  Okay.

MS. HUGHES:  So the change that you're referring to is a total change in the count.

So that we had new hires budgeted for '09, '10 and now '11, so in fact, some of those new hires have been made, and what you're seeing is vacancies in existing positions.

So it's certainly not an apples-to-apples comparison that you're making.

MR. SHEPHERD:  Well, okay.  You're telling this Board that for budgetary purposes, because they're setting your bucket, at the end of December last year, you had 386 people.  You propose that at the end of December this year, you will have 42 more; right?

MS. HUGHES:  Yes.  That's how our budget has been produced.  Yes.

MR. SHEPHERD:  Okay.  Good.  Let me, then, go to your update to table 4-26.  Repeat my question?  Okay.  Wouldn't want you to miss any of our prose.

Table 4-26, you've updated yesterday?

MS. GALLI:  That's correct.

MR. SHEPHERD:  And so I have just a couple of questions on this.

You had listed your general clerk hired in January, and it turns out that's March; right?

MS. GALLI:  That's right.

MR. SHEPHERD:  And you had your two network operator apprentices listed as hired in January, and they're actually February and April?

MS. GALLI:  Yes.  So the January would have reflected the budgeted timeframe we had expected to hire, and the changes or updates reflect actual hire dates.

MR. SHEPHERD:  So -- but you have 19 people listed here as hired in January, still; down from 22, but now it's 19.

So you hired all those people in January; right?

MS. GALLI:  No.  The others have not been hired.

MR. SHEPHERD:  So none of them have been hired yet?

So when we look and we say January 11, that's not true, is it?

MS. GALLI:  Those were budgeted dates.

MR. SHEPHERD:  Okay.  So in fact, none of the employees that you've -- except for those three, the general clerk and the two network operator apprentices, those are the only three of the 42 that you're supposed to be hiring that you've actually hired so far right now, middle of April; right?

MS. GALLI:  That's correct.  However, we are actively recruiting for the other positions.

MR. SHEPHERD:  Okay, but your budget has them in starting January 1st; right?

MS. GALLI:  That's correct.

MR. SHEPHERD:  Okay.  And -- oh, let me ask one other question about that, just while I'm at it.

You have a position in 2010, manager treasury and risk.  That's still not -- that's still unfilled; right?

MS. HUGHES:  That is correct, but we do have a contract staff, and have had a contractor on staff in both 2010 and 2011.

MR. SHEPHERD:  And in 2010, you have seven positions which are listed as line maintainer cable splicer.  And I think I heard Mr. Sidlofsky refer to those seven positions as apprentices.  I wrote it down when he said it.

Are those apprentice positions or are those actual tool-in-hand people who know what they're doing positions?

MS. GALLI:  Those are apprentice new hires.

MR. SHEPHERD:  Those are apprentices?

Then the last area on FTEs is on J1.9, and you were asked how much money have you spent so far on the aging workforce problem, with respect to your trades.

And on the second page of this undertaking response, you have a table that shows your technical and skilled trades hires, but there's little notes at the bottom about which ones are new and which ones are simply replacing people you already had.

If I'm -- tell me whether this is right.  Of the 29 overhead and underground apprentices that you hired or you will have hired by the end of 2011, 19 of them replaced previous people.

So they're not new; they're new people, but they're not new jobs; right?

MS. GALLI:  That's correct.  They're not incremental.

MR. SHEPHERD:  Okay.  And of the 10 that are new, five are in 2010 and five are planned for 2011; is that also correct?

MS. GALLI:  Is that specifically in the overhead?

MR. SHEPHERD:  That's -- yeah, in overhead and underground.  All your 2008 were replacement, all your 2009 were replacement, and seven of your 12 2010 were replacement; right?

MS. GALLI:  So we had seven overhead apprentices in 2010.  Seven of the eight were replacement.

MR. SHEPHERD:  Okay.

MS. GALLI:  And in '11, all of them are additional.

MR. SHEPHERD:  Okay.  So that the reason I ask this is because the whole point of the question was to ask you:  What have you spend spent so far on your aging workforce?

And it sounds like -- and tell me whether this is right -- until 2010, the answer is zero.  You've replaced existing people.  That's all.  You haven't added any more; right?

MS. GALLI:  For the purposes of the chart, we've characterized them as replacement hires.  However, in those years, specifically, we may have hired them as advanced hires, but then experienced the turnover, whether it be related to simple attrition or retirements.

MR. SHEPHERD:  Okay.

MS. GALLI:  So for the purposes of the table, we've characterized them as replacements.

MR. SHEPHERD:  So replacement doesn't mean replacement?

MS. GALLI:  So if we experienced a loss of, for example, first class line maintainer and hired an apprentice in that year, they were offset.  So we didn't include any costs associated with that.

However, if we hired an apprentice and we didn't experience any turnover, then that would be reflected as an advance hire.

MR. SHEPHERD:  And my last question, then, relates to -- on this relates to page 4 of that interrogatory response, which is a table of the wages and trainings costs which deal with aging workforce.

And I see that for overhead and underground, you have quite a number of expenses that you're calling aging workforce in 2008 and 2009, and, indeed, into 2010.  But I take it it's correct that some of those are normal course of business expenses.  You had to replace people; right?

So they're not incremental expenses to cover your aging workforce problem.  They are, We have to hire new people and train them?

MS. GALLI:  No.  We would not have experienced those costs in those years had we been able to retain our first class line maintainer.  So, for example, on a regular basis we would incur costs associated with the first class line maintainer.  However, we have incremental costs when we hire apprentices.

So we have several expenses associated with that, including sending them to line school and whatnot.  So these reflect only incremental.

MR. SHEPHERD:  So these are reactive expenses.  They're reacting to the fact that you're losing people already, as opposed to building up a bunch of people to be available for later retirements?

MS. GALLI:  They would be investments specifically related to apprentices, if I am understanding your question correctly.

MR. SHEPHERD:  In 2008 and 2009, you didn't add any net new people.  So presumably what you're doing is you're reacting to the fact that you're already losing some of your aging workforce; right?

MS. HUGHES:  But I think the point we're trying to make is we are investing in apprentices, and the incremental cost associated with an apprentice is a significant investment.

MR. SHEPHERD:  All right.  And my last question is with respect to -- it's a different subject.  It's with respect to J3.7.

We asked:  How do you propose that the Board calculate the revenue-to-cost ratios?  And what we're trying to understand here, and perhaps you can help me with this, is you've said on line 18 -- I'm sorry, line 19:  Horizon Utilities proposed a specific revenue-to-cost ratio for the residential class for 2011.

And that's 104 percent; right?

MS. BUTANY-DESOUZA:  Yes.  That's correct.

MR. SHEPHERD:  And so regardless of what the deficiency is, regardless of what this Board orders in terms of costs that are appropriate or not appropriate, do I understand correctly that you're still proposing 104 percent?

MS. BUTANY-DESOUZA:  No -- sorry, it's probably more useful to go to the line that's previous to that, in that it's to take that customer class - that is, to start with residential - and take that class half way to parity.

MR. SHEPHERD:  So then would I be right to say that once the Board has made its decisions about revenue requirement, you have to re-run your cost allocation model and get the raw revenue-to-cost ratios, and then what you're proposing is to move residential half way from there; right?

MS. BUTANY-DESOUZA:  Just one second.  I'd like to pull one reference.

Maybe I can refer to the oral hearing transcript, day 3, page 93, at line 1 of that page, where Mr. Bacon had said in a discussion with Ms. Girvan that the Board would actually decide what those revenue-to-cost ratios would be, and then in the decision, and then we would work towards that in the rate order.

MR. SHEPHERD:  Yeah, but what I'm asking is not what the Board decides.  I'm asking about your proposal.  Are you proposing to move residential half way after any adjustments for revenue requirement and a new cost allocation, or are you proposing a particular number?

MS. BUTANY-DESOUZA:  We would -- we would start with residential.  Beyond that, then, we would try and move the rest of the classes closer towards parity.

MR. SHEPHERD:  And you would start with what ratio in residential, 104, or some other number dependent on the revenue requirement?

MR. BASILIO:  I think it would be dependent on where it comes out with the initial data.  But just to -- and I think this is paraphrasing, because I can't remember the exact comment, that we'll have the raw data.  It will provide a cost allocation, and we will endeavour to move that half way between where it is and 100.

So if it comes out at 112, the initial momentum would be to try and move it to 106, something like that.

MR. SHEPHERD:  Okay.  So that's what I asked, and Ms. Butany-DeSouza said no.

MS. BUTANY-DESOUZA:  No.  No, I'm sorry, I don't think that that's what I did say.

MR. BASILIO:  Anyway, hopefully, that clarifies -- that clarifies what our intention would be.

MR. SHEPHERD:  Thank you.  Those are our questions, Madam Chair.

MS. HARE:  Thank you.  The Panel is going to take a five-minute break, and we'll come back.  Five minutes.

--- Recess taken at 12:02 p.m.

--- On resuming at 12:11 p.m.


MS. HARE:  Please be seated.

Ms. Helt, I understand you have no questions?

MS. HELT:  That's correct, Madam Chair.

MS. HARE:  Thank you.

Is there any redirect, Mr. Sidlofsky?

MR. SIDLOFSKY:  Just a couple of brief questions, Madam Chair.

MS. HARE:  I should have added the Panel has no questions.  We will have some direction in terms of argument, however.
Re-Examination by Mr. Sidlofsky


MR. SIDLOFSKY:  Thank you.

I'm not sure which member of the panel would be able to answer this for me, but you were asked about the discrepancy between 2010 forecast and 2010 actuals, and Mr. Shepherd pointed out that there was about a million dollars' difference, when we look at the original version of table 3-1 against the revised version of table 3-1.

Perhaps it's Ms. Hughes.  Do you have any comments on that discrepancy?

MS. HUGHES:  So what I would like to add in terms of the distribution revenue, the 2010 actuals in the residential class are significantly greater than the 2010 forecast.

We had $56.6 million in the residential class, compared to our original forecast, which was 52.2 million.  And we did have an extremely hot summer in 2010, and that's being reflected clearly in the residential class.

And you know, through the balance of the classes, when you compare the 2010 actuals with the 2010 forecast, we have seen a decline in the other classes with - as Mr. Shepherd points out - if you look at the 2010 -- sorry, I just was looking at the large-user class, and I think we've already explained the fluctuation in the large-user class.

MR. SIDLOFSKY:  And either Mr. Bacon or Ms. Butany, Mr. Shepherd was asking about the fact that you re-ran the load forecast model for reduced CDM, but not for higher actual load; correct?  Do you recall that?

MR. BACON:  That's correct.

MR. SIDLOFSKY:  Okay.  Would you be prepared to re-run the model to reflect the higher actual load, as well?

MS. HARE:  Mr. Shepherd?

MR. SHEPHERD:  Madam Chair, we're in the last five minutes of the hearing.  I think it's too late to have a new load forecast.  It was bad enough to have a new load forecast yesterday.  Another one after the hearing is not appropriate.

MR. SIDLOFSKY:  Madam Chair, if I might, I expect, given his rhetorical question about whether it wasn't odd that the model wasn't run for a higher actual load, that Mr. Shepherd will be saying that that was a deficiency, we'll call it, and that it should have been run for a higher actual load.

Well, if the utility is prepared to do that now, at least the Board will have that information on the record.

MS. HARE:  Just one minute, please.

[Board Panel confers]


The Panel agrees with Mr. Shepherd; it's too late.  I'm sure he will argue that it should have been done, but it wasn't, and the record is closing.

If you file something more, than we're going to have to have an opportunity to re-examine it, and I think it's too late.

MR. SIDLOFSKY:  Fair enough, Madam Chair.  I fully understand that.  But I expect that if the Board does say that the model needs to be run again in its decision, the utility will have to do that.  I can't say at this point what the Board will decide on that, but the Board may be seeing an updated load forecast model.

MR. SHEPHERD:  Sorry, I thought the Board --


MS. HARE:  I think that would be very unusual, actually.

MR. SHEPHERD:  I thought the Board just ruled that the Board wasn't going to see another load forecast, so I'm not sure how Mr. Sidlofsky converts that into:  You might be anyway.

MR. SIDLOFSKY:  That's –- sorry, to be clear for my friend, it wasn't that the utility was going file one in any event.

What I was suggesting was that if the Board determines that the model should have been run or the load forecast should have been determined accounting for the higher actual load, in its decision, I was simply suggesting that the Board will likely want to see that at that point.

It's totally up to the Board.

MS. HARE:  I think the record is as it is.

Do you have other redirect questions?

MR. SIDLOFSKY:  Just one moment, Madam Chair.

One more question, Madam Chair.

Mr. Bacon, just on the issue of the load forecast, do you have any further comments on what Mr. Shepherd suggests is the counterintuitive nature of the load forecast?

MR. BACON:  Yes.  When we -- in thinking about it again, when we ran the update to the model, it provided a higher coefficient, 0.49.

What does that mean in layman's terms?  In my view, the model is suggesting that there are more indirect benefits from CDM in the Horizon service area in the new -- in the updated version, compared to the other one.

What is a -- the direct benefits, in my view, are the actual things that are measured by the OPA, and the things that are measured by, say, Horizon in their third-tranche application.

There are other indirect savings that happen because people are aware of CDM.  People are aware of time-of-use coming along.  There are just things that people actually do to save load, which are not in programs but actually occur in the service area, which impacts on the power -- which impacts on the amount that Horizon purchases, which is what the regression analysis is actually modelling towards.

MR. SIDLOFSKY:  Those are my questions.  Thank you, Madam Chair.
Procedural Matters:


MS. HARE:  Thank you.  The Board has some direction with respect to argument-in-chief and submissions.

An issue arose from Mr. Buonaguro's questions this morning, relating to Horizon's CDM activity, specifically Exhibit 4.1.

In its argument-in-chief, Horizon has requested to confirm that the rate order previously approved by the Board with respect to LRAM reflects the most recent OPA data for all years.

This is of interest to the Board, as it relates to the LRAM claim in this application.

MR. SIDLOFSKY:  That would be fine, Madam Chair.

MS. HARE:  Lastly, the Board would like to remind the applicant and all parties that argument in-chief and submissions do not represent an opportunity for introducing new evidence.

MR. SIDLOFSKY:  Understood.  Thank you.

MS. HARE:  Thank you.

With that, we are adjourned.  I thank all parties for their participation.

--- Whereupon the hearing concluded at 12:19 p.m.
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